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da: Jun ASWUU:
405.4 x 107 = 1004 =
1077 = 100D =
613.2 x 1007 = 269.6 x 1003 =
—1x10% = 2603+ 10% =
126.9 x 1002 = 6x 100 =
1071 = 1003 =
139.5+ 1072 = 166.7 + 100 =
499.9 + 1073 = 1002 =
285.4 x 100 = 7517 x 1002 =
8 x 10072 = 4 x100% =
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AD:

oJde
=
=

ASLLUU:

405.4 x 107 = 0.4054 107 = 0.0001

107 = 0.001 1077 = 0.1

613.2 x 107 = 0.6132 269.6 x 107 = 0.2696
—1 % 10* = -100 260.3 + 10* = 2.603
126.9 x 107 = 1.269 6 x 107 = 0.0006

1077 = 0.1 107 = 0.001

139.5 + 100 = 13950 166.7 + 107 = 1667000
499.9 + 107 = 499900 107 = 0.01

285.4 x 107 = 0.2854 751.7 x 1072 = 7.517

8 x 1072 = 0.08 4 x 107 = 0.0004
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